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NEW QUESTION 1
Identify two statements that are true about the cost-organization relationship.

A. Costing Item Validation Organization can only be Item Master Organization of the underlying inventory organizations.
B. Only Inventory organizations belonging to different ltem Master Organizations can be part of a cost organization.

C. Costing Item Validation Organization is used to default the Unit of Measure for costing calculations.

D. The inventory organizations that are assigned to a cost organization must all belong to the same legal entity.

Answer: CD

NEW QUESTION 2
You need to load on-hand balances for go live. Which template should be used for this?

A. InventoryBalancelmportTemplate.xlsm

B. InventoryReservationimportTemplate.xlsm
C. InventoryTransactionimportTemplate.xlsm
D. InventoryOnHandBalanceTemplate.xlsm
E. InventoryMiscellaneousTrxTemplate.xlsm

Answer: C

NEW QUESTION 3

You set up an item organization and an inventory organization as part of your customer’s requirement. Your customer has, by mistake, performed a receipt
transaction in the item organization instead of the

inventory organization. How will you rectify this error?

A. Perform a correct receipt transaction and receive the item in the correct organization.

B. Perform a return of item and receive the item again in the correct organization.

C. Itis not possible to receive item in the item organization.

D. Perform a new receipt in the correct organization and retain the stock in item organization because it does not affect any other operation.

Answer: C

NEW QUESTION 4
Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the primary unit of measure and is available for
various transactions.

A. Available
B. Secondary Available Quantity
C. Reserved
D. Secondary On-hand Quantity
E. On Hand

Answer: B

NEW QUESTION 5

What does the system do if you have not entered a count for a tag during physical inventory process?
A. It will adjust your on-hand balances down to zero quantity.

B. You will not be able to post without a quantity for every tag.

C. Any adjustment will be rejected.

D. It will consider the current system quantity.

E. A warehouse person will be notified.

Answer: A

NEW QUESTION 6
Given the code fragments:
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@Stateless
public class HRService {
@PersistenceContext(unitName="HRApp-PU")
private Employee findEmployee(String badgeld) {
return entityManager.find(Employee.class, badgeld);
}
public void updateEmployee(Employee emp) {
/ /add code here

@WebServlet(name="HR", urlPatterns={"/hr"})
public class HRServlet extends HttpServlet {
QEJB
private HRService hrService;

public void doGet(HttpServletRequest req, HttpServletResponse res)

throws ServletException, IOException {

String badgeld = req.getParameter("badge");

String name = req.getParameter("name");
Employee emp = hrService.findEmployee(badgeld);
emp.setName(name);
hrService.updateEmployee(emp);

}

What code should you add to the body of the updateEmployee method in order to save pending changes to the database?

A. entityManager.merge(emp);
B. Contex

C. Ctx = new InitialContext();UserTransaction utx = (UserTransaction)ctx.lookup(“java:comp/UserTransaction”);utx.begin();entityManager.merge(emp);utx.c

entityManager.lock(emp);EntityManager.merge(emp);
D. entityManager.getTransaction().begin();entityManager.merge(emp);entityManager.getTransaction().comm

Answer: B

NEW QUESTION 7
An inventory transaction is important to the system through an FBDI template.
Which transaction state denotes that an inventory transaction is created in the Oracle Inventory Management application?

A. Created
B. Validated
C. Deferred
D. New

E. Staged

Answer: B

NEW QUESTION 8

Your client has just up their chart of accounts. They are now designing the organization hierarchy in the system.
Which three structures should the customer use the to do this?

A. Warehouse, Subinventory, and Locators

B. Cost Centers, Organizations, and Locations

C. Cost type, Default Cost Structure, and Item Organization

D. Divisions, Business Units, and Departments

Answer: D

NEW QUESTION 9
How can a servlet indicate to the browser that cookie data should be sent over a secure connection?
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A. Call the getSecure(true) method on the cookie object.

B. Encrypt the cookie dat

C. The browser automatically sends encrypted data over a secure connection.
D. Set the ENCRYPT header in the response.

E. Configure SessionTrackingMode.SSL on the ServletContext object.

Answer: A

NEW QUESTION 10
Which statement is true about the WS-Security standard?

A. Itis a Java EE standard for protecting SOAP services.

B. It relies on HTTP security mechanism to protect SOAP messages in transmit.
C. It provides message-level security.

D. It defines protocol-specific ways of protecting SOAP messages.

Answer: C

NEW QUESTION 10
Given the code fragment:

1. JTAXBContext jc = JAXBContext.newInstance( "com.oracle.foo" );
. Unmarshaller u = jc.createUnmarshaller();

2
3.
4. InputStream in new FileInputStream("fooStuff.xml");
5. Object 0 = w.unmarshal (in );

Which method should be used on line 3 to enable default validation mechanism?

A. u.setProperty(String, Object)

B. u.setProperty(Schema)

C. u.setEventHandler(ValidationEventHandler)
D. u.setAdapter(XmlAdapter)

Answer: D

NEW QUESTION 11
Given a JSL document describing a batch job:
<job id="ProductLoadJob"

xmlns=http:/ /xmlns.jcp.org/ xml/ ns/javaee version="1.0">
<step id="ProcessProduct">
<chunk item-count="10">
<reader ref="ProductReader" />
<processor ref="ProductProcessor"/ >
<writer ref="ProductWriter" />
</ chunk=>
</step>
</job=

How do you initiate a batch job?

A. Get the JobExecution object from BatchRuntime and call its start() method.

B. Get the JobExecution object from BatchRuntime and set its status to JobStatus.INITIATED.
C. Get the JobOperator object from BatchRuntime and call its start() method.

D. Call BatchRunTime.initialize(“ProductLoadJob”);

Answer: A

NEW QUESTION 16

Your supplier sent you stock against a consigned agreement. You transferred at the stock to owned and generated a consumption advice. An invoice was raised
by the supplier and the payment made. A few days after using some of the quantities of the stock, you realized that some of the stock sent by the supplier is not of
suitable quality and you need to send the stock back.

What is the process of returning the material?

A. You have to cancel the invoice and send the material back without changing the ownership.
B. Return the material and create a debit memo for the supplier.

C. You cannot return consigned items that are invoiced and pai

D. Treat the material as scrap.

E. You have to transfer the ownership of item and perform the return transaction.

Answer: B

NEW QUESTION 20

Which interface should you implement if you want to be alerted to the lifecycle events surrounding your task being executed by a ManagedExecutorService?

A. the Runnable Interface
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B. the ManagedExecutorTask interface
C. the TaskEventListener interface
D. the ManagedTaskListener interface

Answer: D

NEW QUESTION 22

You are currently implementing Oracle Cloud for the Singapore entity of your multinational customer. Their head office is located in Japan. Apart from Singapore,
their other entities are using a legacy system.

Their requirement is to implement Oracle Cloud in such a way that at the end of the financial year, all their financial reporting should be in Japanese Yen.

How will you fulfill the above requirement?

A. Define one primary ledger with Japanese Yen currency so that all the subledger data gets converted to Japanese Yen automatically.

B. Define one primary ledger with SGD (Singapore Dollars) as primary currency and use the reporting currency functionality to provide the necessary data in
Japanese Yen currency.

C. This requirement cannot be fulfilled.

D. Define two ledgers one in SGD (Singapore Dollars) and one in Japanese Yen and transfer data of all the subledgers in these two primary ledgers.

Answer: B

NEW QUESTION 27
On your JSF page, you have a form in which you have a command button:
<h:commandButton value="Click Me!"
actionListener="#{someBean.listenCarefully}"
action="#{someBean.actNow}"/ >

A user submits the form by clicking the button, and no errors occur while processing the request. Which statement is true?

A. The actNow() and ListenCarefully() methods are executed in parallel.

B. The listenCarefully() method is executed followed by the actNow() method.

C. The actNow() method controls the condition upon which the listenCarefully() method is allowed to be executed.
D. The actNow method is executed followed by the listenCarefully() method.

Answer: B

NEW QUESTION 28
Given the following class definition with numbered lines:

@ Alternative

public class ShoppingCartMock implements ShoppingCart {
ECverride
public void checkout() {...}

}

How do you specify to use this mock CDI bean implementation instead of the regular implementation class?

A. Use the alternatives element in the beans.xml file and specify the class name in the class element within it.

B. Start up the server with the optional —alternative command-line option, specifying any alternative class hames in a comma-separated list.
C. Reorder the implementation names in the beans.xml file such that the desired alternative is listed earlier.

D. Delete the regular implementation class from the WAR.

Answer: B

NEW QUESTION 29
Your customer has a complex financial reporting structure.
Which three elements should you define first in order to form a basis for this reporting?

A. Tax, Legal, and Industry

B. Managerial, Operational, and Industry
C. Legal, Managerial, and Functional

D. Legal, Autonomy, and Operational

Answer: C

NEW QUESTION 31
Given the code fragment:
protected void service(HttpServletRequest req, HttpServletResponse res)

throws ServletException, IOException {
PrintWriter out = res.getWriter();
out.print("Service() method called.");

protected void doGet{(HttpServietRequest req, HttpServietResponse res)
throws ServletException, IOException {
PrintWriter out = res.getWriter();
out.print("Get() method called.");
What output will be returned when this servlet is called a GET request?
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A. Service() method called.

B. Service() method called.Get() method called.
C. An HTTP error

D. GET() method called.

Answer: A

NEW QUESTION 35
Identify three statements that are true about reservations in back-to-back processing.

A. Patrtial fulfilment of reservations is supported.

B. Changes to reservation in Oracle Logistics Cloud leads to exceptions, which are displayed in the Supply Chain Orchestration work area.
C. Reservations cannot be created for back-to-back On Hand supply orders.

D. One reservation is created for a demand and supply.

E. Reservation supplies that can be reserved are Purchase Orders, Transfer Orders, Work Orders, and On Hand inventory.

Answer: BDE

NEW QUESTION 40
Your client has not been managing Supply Request Exceptions on a regular basis. What issue does this cause?

A. No issues would be caused; these are just warnings.

B. After the errors reach a set threshold in profile options, no new supply requests can be created.

C. If exceptions are nor resolved within a set threshold days, it alerts the manager and continues to escalate up the Supply Request Exception Chain.
D. The request will be denied automatically if not resolved within two days.

Answer: C

NEW QUESTION 45

Your customer is managing a large sales team divided in two different geographies in the USA. They have the Est Coast sales team and the Central sales team.
Both teams are handled by one manager and perform the same function.

Your customer wants to track the expenses of the two teams separately; however, they do not consider them different as they are handled by one manager only.
How will you fulfill the requirement?

A. Define them as a single department and two separate cost centers.
B. Define them as two separate departments and a single cost center.
C. Define them as one department and one cost center.

D. It is not possible to fulfill the requirement.

Answer: A

NEW QUESTION 48

As part of implementing Oracle Cloud for your customer, you defined multiple Business Units. The customer wants you to define an Inventory Organization that is
associated with all the business units and not just one particular business unit.

How do you achieve this?

A. Define the Inventory Organization without associating it with any location.

B. Leave the Management Business Unit field blank in the Inventory Organization definition.

C. Leave the Profit Center Business Unit field blank in the Inventory Organization definition.

D. It is not possible to define an Inventory Organization that is associated with more than one business unit.

Answer: D

NEW QUESTION 52

Your company is an automobile spares manufacturing organization, which follows a discrete process. It has its own manufacturing and distribution centers located
globally.

It has these business units: US - USA business unit

CAN - Canadian business unit UK - UK business unit

MX - Mexican business unit IND - India business unit SPA - Spain business unit FRA - France business unit

NL - Netherlands business unit GER - Germany business unit

These are the inventory organizations that exist in each business unit:

Inventory Org - business unit

G M (Master Org) = US

Usl (Child Org) = US
Us2  (Child Org) = US
CAl (Child Org) - CAN
MX1 (Child Org) = MX
INL  (Child Org) = IND
SP1  (Child Org) = SPA
FR1  (Child Org) = FRA
NL1  (Child Org) = NL
DEL  (Child Org) - GER

Which two statements are true?
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A. All inventory organizations do not need to be in the same business unit to assign items.

B. Item organizations are also supported to serve as inventory organizations.

C. ltems cannot be assigned to inventory organizations across business units.

D. Items defined in the GM organization can be assigned to US1, US2, NL1, and MX1 inventory organizations.
E. Operational Attributes can be controlled only at the Master Level.

F. You can define an item in the IN1 inventory organization and assign it to the DE1 inventory organization.

Answer: AD

NEW QUESTION 56
Which statement is true about Java methods that are exposed as Web Service operations by using JAX-WS API?

A. The @WebResult annotation must exist.

B. Method parameters and return types must be JAXB compatible.
C. Method parameters must be declared by using @WebParam.
D. The @WebMethod annotation must exist.

Answer: D

NEW QUESTION 58
Given the code fragment:

public void onMessage(Message msg) {
try {
/[ get property names
} catch (Exception e) {
}

How can you get all property names of a JMS message in the JMS consumer onMessage operation?

A. String [] props = msg.getPropertyNames();
B. Enumeration props = msg.getPropertyNames();. Iterator props = msg.getPropertyNames();
C. List<String> props = msg.getProperties();

Answer: A

NEW QUESTION 60

You are building the User Preferences page of an application. A user can change values, such as his or her name, password, address, company, and so on.
These values are sent to a CDI backing bean via AJAX when the user tabs out of each field. However, the values must be retained in the CDI bean and stored in
the database only when the user clicks the Save button.

Which two scopes will allow your CDI bean to retain its state while the user is interacting with the User Preferences page? (Choose two.)

A. Dependent
B. View

C. Session

D. Request
E. Application

Answer: CD

NEW QUESTION 65
Which two capabilities are provided by the Java Authentication and Authorization Services (JAAS) API? (Choose two.)

A. protecting data from unauthorized viewing by using encryption
B. verifying that a user is allowed to perform an action

C. ensuring that data is not modified in transit

D. verifying identity claims from users

Answer: BC

NEW QUESTION 69

Your client has decided that Discrete Manufacturing will be implemented at a future stage, so any new supply from current manufacturing will be added to current
inventory by the Open Transactions Interface. The immediate requirement is to go live with Inventory and Order Management.

Which two seeded transaction types can be omitted for material status control?

A. All Transaction Types Related to Work in Process
B. Average Cost Update

C. Backflush Subinventory Transfer

D. Miscellaneous Issues and Receipts

E. All Internal Transactions

Answer: AC

NEW QUESTION 71
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